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Question Number : 1 Question Id : 2549896413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the decimal equivalent of the binary number (10111)?
Options :

1. % 32

2. % 15

3.¥23

4. % 51

Question Number : 1 Question Id : 2549896413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 32

2. % 15

3. % 23

4. % 51



Question Number : 2 Question Id : 2549896503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a spreadsheet software?
Options :

1. % MS-Excel

2. * Google Sheets

3. ¥ Zoho Sheets

4. ¥ MS-Word

Question Number : 2 Question Id : 2549896503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. * MS-Excel

2. * 17 2fficd (Google Sheets)
3. ® Sigl flicg (Zoho Sheets)

4. ¥ MS-Word

Question Number : 3 Question Id : 2549896580 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The binary number system has a base:

Options :

1.2

2. % 4



4. % 16

Question Number : 3 Question Id : 2549896580 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.9 2

2. % 4

3.% 8

4. % 16

Question Number : 4 Question Id : 2549896840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

HDMI is used for high-definition digital audio and video.

What does HDMI stand for?

Options :

1. ¢ High Definition Multimedia Interface
2. ¥ High Density Multimedia Interface
3. ¥ High Definition Managed Interface

4, * Heap Definition Multimedia Interface

Question Number : 4 Question Id : 2549896840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ High Definition Multimedia Interface
2. * High Density Multimedia Interface
3. ¥ High Definition Managed Interface

4. % Heap Definition Multimedia Interface

Question Number : 5 Question Id : 2549896909 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is popular programming language for developing multimedia web pages,

websites and web-based applications?
Options :

1. ¥ COBOL

2. ¥ Java

3. ® BASIC

4. # Assembler

Question Number : 5 Question Id : 2549896909 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. %# COBOL

2. ¥ Java

3. * BASIC



4. % Assembler

Question Number : 6 Question Id : 2549896959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who amongst the following designed and implemented the C++ programming language?
Options :

1. % Bjarne Stroustrup

2. # Linus Torvald

3. * Sabir Bhatia

4. % Guido Von Rossom

Question Number : 6 Question Id : 2549896959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ goH ¥igga

2. ¥ gH RATeS

3. ® @R wfean

4. % g 9 A9

Question Number : 7 Question Id : 2549896994 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In terms of Computer Architecture, the terminology CISC is the acronym of

Options :



1. % Complete Instrcution Special Computer
2. ®# Complex Instruction Special Computer
3. * Complete Instruction System Computer

4. ¢ Complex Instruction Set Computer

Question Number : 7 Question Id : 2549896994 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # Complete Instruction Special Computer (FFIeilc ST LA hex)
2. ¥ Complex Instruction Special Computer (ShlFeterd ST WA hTR)
3. ¥ Complete Instruction System Computer (e §EaM eH FER)

4. ¢ Complex Instruction Set Computer (ShIFeicR ST I hIR)

Question Number : 8 Question Id : 2549897037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The word processing feature that catches most random typographical errors and misspellings is

knownas .
Options :

1. # Vision checker
2. ¥ Spell checker
3. ¥ review

4. * pyte

Question Number : 8 Question Id : 2549897037 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ IS 9

2. ¢ Wl IR

3. % Reg

4. #® d13¢

Question Number : 9 Question Id : 2549897048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

___isatechnology that recognizes text within a digital image.
Options:

1. % OMR

2. % POS

3. ¥ OCR

4. % MSI

Question Number : 9 Question Id : 2549897048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ®* OMR
2. ¥ POS

3. ¥ OCR



4. % MSI

Question Number : 10 Question Id : 2549897607 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

___ circuitis an assembly of electronic components, like transistors, fabricated as a single unit.
Options :

1. ¥ Integrated

2. % Wired

3. * Layout

4, # Line

Question Number : 10 Question Id : 2549897607 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 38U¢s (Integrated)

2. % g (Wired)

3. ¥ Jam3e (Layout)

4. % &34 (Line)

Question Number : 11 Question Id : 2549898543 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A Linux command which is used to create, view and concatenate the files is known as:

Options :



1. % cd
2. % rm
3. #* mkdir

4, % cat

Question Number : 11 Question Id : 2549898543 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % cd

2. % rm

3. ¥ mkdir

4, + cat

Question Number : 12 Question Id : 25498913749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A bus which is used to provide communication between the major components of a computer is

calleda___ bus.
Options:

1. % control

2. ¥ system

3. # data

4. % address

Question Number : 12 Question Id : 25498913749 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % &hgd
2. ¥ R
3. % 3

4. % v

Question Number : 13 Question Id : 25498913756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following ports is also known as Parallel Port?
Options :

1. % LPP

2. % LPI

3. * LPR

4. LPT

Question Number : 13 Question Id : 25498913756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. # LPP

2. % LPI

3. * LPR



4. ¥ LPT

Question Number : 14 Question Id : 25498930062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A PCis a register in the CPU containing the address of the next instruction to be executed from

memory.

What does PC stand for in the given context?
Options:

1. * Peripheral Counter

2. # Postpone Counter

3. ¥ Program Counter

4. % Personal Counter

Question Number : 14 Question Id : 25498930062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Peripheral Counter (GRthet hrdex)
2. % Postpone Counter (TReUN BR&eR)
3. ¥ Program Counter (JHITH $R¥eR)

4. % Personal Counter (Tde shdeR)

Question Number : 15 Question Id : 25498930914 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following operators is used as a 'Not equal to' operator in MS-Excel?

Options :

Question Number : 15 Question Id : 25498930914 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 16 Question Id : 2549898154 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % UH A

2. % AT ThA

3. ¥ gigg RepriaE



4. « f=fsu

Question Number : 16 Question Id : 2549898154 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

____is NOT an example of an access control system.
Options :

1. % Palm scan

2. * Retina scan

3. * Voice recognition

4. ¥ WinZip

Question Number : 17 Question Id : 2549899601 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

ffafea & 9 ol 41 filer s1eR a9 & foly Sied ot ded Iaad 1 8?2
Options :

1. ¥ ds fiex

2. % St et fliex

3, ¥ gfe Afa i

4. % Zahoie fiiR

Question Number : 17 Question Id : 2549899601 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following printers produces a pattern of dots to form characters?

Options :



1. % Band printer
2. % Daisy wheels printer
3. ¢ Dot matrix printer

4. #® Inkjet printer

Question Number : 18 Question Id : 25498910772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ fiic AAsTHe St

2. ¥ fiic hieer

3. ¥ fdsie R dex

4. ¥ Azach thieex

Question Number : 18 Question Id : 25498910772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The is a centralised location for providing the tools for managing printers, drivers, queues

and shares in a Windows server.
Options :

1. % Print Management Console
2. * Print folder

3. ¥ Windows Security Center

4. * Network folder

Question Number : 19 Question Id : 25498911209 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * Musical Instrument Digital Instance (MIDI)
2. ¥ Musical Instrument Digital Interface (MIDI)
3. * Musical Instrument Direct Interface (MIDI)

4. # Musical Input Digital Interface (MIDI)

Question Number : 19 Question Id : 25498911209 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The standard defines a communication protocol for electronic music devices, such as

electronic keyboard instruments and personal computers.
Options:

1. # Musical Instrument Digital Instance (MIDI)

2. ¥ Musical Instrument Digital Interface (MIDI)

3. #* Musical Instrument Direct Interface (MIDI)

4. ¥ Musical Input Digital Interface (MIDI)

Question Number : 20 Question Id : 25498913407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % g gar sridies
2. ¢ giafgd sAw ddteq



3. # grfRfgd 38w gdtes
4. % grfagfgd gavl srgdied

Question Number : 20 Question Id : 25498913407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Transform coding is a general scheme for ___
Options:

1. # lossless image decompression

2. ¥ |ossy image compression

3. * lossless image compression

4. % lossy image decompression

Question Number : 21 Question Id : 25498913919 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 20 9Tgeq

2. % 16 95T

3. % 32 aTEe™

4. 40 ST5EE

Question Number : 21 Question Id : 25498913919 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the size of the IPv6 header?



Options :

1. % 20 bytes
2. * 16 bytes
3. ¥ 32 bytes

4. ¥ 40 bytes

Question Number : 22 Question Id : 25498918458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.+ 3D

2. % 2D

3. % 1D

4. % 4D

Question Number : 22 Question Id : 25498918458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main advantage of a 3D printer is that it allows users to print objectsin
Options :

1.+ 3D

2. % 2D

3.% 1D

4. % 4D

Question Number : 23 Question Id : 25498918469 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % g

2. ¢ AR
3. % aws
4. % Re=

Question Number : 23 Question Id : 25498918469 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The powdered black ink used by laser printersis called ____ cartridge.
Options :

1. % ink

2. ¥ toner

3. ¥ mixed

4. * ribbon

Question Number : 24 Question Id : 25498918551 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ g9 TI3H UrHasH

2. ¢ Sirdfecher

3. ¥ O 9™



4. % T dcg

Question Number : 24 Question Id : 25498918551 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

(A/An) refers to identifying each user of the system and associating the executing programs

with those users.
Options :

1. ¥ One Time passwords
2. ¥ Authentication

3. ¥ Program Threats

4. % System Threats

Question Number : 25 Question Id : 25498919268 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % SMTP
2. ¥ POP3
3. ®¥ HTTP

4. % TELNET

Question Number : 25 Question Id : 25498919268 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The protocol provides a simple, standardized way for users to access mailboxes and

download messages to their computers.
Options :
1. % SMTP
2. ¥ POP3
3. % HTTP

4. % TELNET

Question Number : 26 Question Id : 25498919314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

fAefafad 7 & er sresR 6 fatydr =8t 82

Options :

1. % AfaT=E g

2. ® g wafSin

3. ¥ gepHTR
4. ¥ IS e

Question Number : 26 Question Id : 25498919314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a feature of a browser?
Options:

1. * Navigation buttons

2. ® Tabbed browsing

3. * Bookmarks

4. + File conversion



Question Number : 27 Question Id : 25498919367 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. #¥ Shift

2. % Ctrl+N

3. ® Ctrl+A

4.« Ctrl+shift+N

Question Number : 27 Question Id : 25498919367 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut is used to open a new window in incognito mode in

Google Chrome?
Options :

1. #* Shift

2. % Ctrl+N

3. # Ctrl+A

4.« Ctrl+shift+N

Question Number : 28 Question Id : 25498922677 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ 'Insert' gamd



2. ¥ 'Shift' gqad
3. ¥ 'Caps Lock' gamd

4. ¥ 'Tab' gamg

Question Number : 28 Question Id : 25498922677 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If the text that you are typing is overwriting the old text that you have already written, what option

can you use to stop this occurrence?
Options :

1. % Press 'Insert'

2. ® Press 'Shift’

3. * Press 'Caps Lock'’

4. % Press 'Tab'

Question Number : 29 Question Id : 25498924435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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1. ¥ gg Mg ufafehar (quick response) &1 ATH U&TH &l 8
2. % grFeddR ot ufafef™ (duplication) 814 ¥ Ahdl &

3. ¥ iy & [fseha @573 (idle time) hl A HdT &

4. 398 QR 3R Igar Jeidt forddt ga=ar a1 9re=1 981 oher ugdar 8
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Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true with respect to a timesharing operating system?
Options:

1. # Provides the advantage of quick response

2. * Avoids duplication of software

3. ¥ Reduces CPU idle time

4. ¥ No security and integrity issues
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Options :

1. ¥ &g

2. % CS:A

3. ¥ qwré

4., g
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When you put the computer in mode, it powers down the computer while maintaining its

previous state by totally cutting off power consumption.
Options :

1. # Sleep

2. # Shut down

3. # Restart



4. + Hibernate
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Which of the following is an E-mail client?

Options :

1. % Microsoft Outlook

2. # Internet explorer

3. * Netscape navigator

4., % Chrome

Question Number : 31 Question Id : 2549896466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

fAefafead # @ o= a1 e -9 arEe 87

Options :

1. % Microsoft Outlook

2. * Internet explorer

3. * Netscape navigator

4. % Chrome
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For locating any document on the World Wide Web, there is a unique address known as:

Options :



1. ¥ Domain name
2. % E-mail
3. # Modem

4. ¥ URL
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Options :

1. % ST AW

2. % §9a

3. ¥ dten

4. % URL
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The information to be communicated in a communication system is called:
Options :

1. # Medium

2. * Protocol

3. ¥ Message

4. % Netiquette
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Options:

1. ® Htem

2. ¥ fieile

3. ¢ O3S

4. ® Afehe (Netiquette)
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In Gmail, which of the following symbols is used to mark important messages?
Options :

1. # # (hash)

2. ¥ % (dollar)

3. #* +(plus)

4.« * (star)
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1. % # (331

2. % § (S[eR)

3. ¥ + (=)

4. ¥ * (ER)
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Which function key is used to go to the next field in MS Word?
Options :

1. % F10

2. % F2

3.¥ F11

4. % F8
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Options:
1. % F10
2. % F2
3. ¥ F11

4. % F8
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What is the margin of a page when narrow option is selected for left and right while printing a

document in MS Word 2010?
Options :
1. * 1inch, 1 inch

2. * 1inch, 0.5 inch



3.4 0.5inch, 0.5 inch

4. % 1inch, 1.25inch
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Options :

1. * 1inch, 1inch

2. * 1inch, 0.5 inch

3. ¥ 0.5inch, 0.5 inch

4. % 1inch, 1.25inch
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Generally, what is the smallest and largest font size available for selection in the drop down list in

the Font Size tool in MS Word document?
Options :

1. % 8,64

2. # 10,70

3.48,72

4. % 8,78
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Options :

1. # 8,64

2. % 10,70

3. 8,72

4. % 8,78
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To control video and other media, which of the following is the key combination to go to the

previous bookmark in MS PowerPoint?
Options :

1. % ALT+PAGEUP

2. % ALT+ENTER

3. ¥ ALT+HOME

4. # ALT+BACKSPACE
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Options :

1. * ALT+PAGEUP
2. % ALT+ENTER
3. ¥ ALT+HOME

4. % ALT+BACKSPACE
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In Microsoft PowerPoint, presentation designs regulate the formatting and layout for the slide and

are commonly called:
Options :

1. % Templates

2. * Pictures

3. * Design plates

4, # Image holders
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Options :

1. ¥ Templates

2. * Pictures

3. # Design plates

4. * Image holders
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A line chart is often used to visualize a trend in time series data. Thus the line is often drawn

chronologically. In these cases line charts are known as:



Options :

1. ¥ Doughnut chart
2. ¥ Run chart

3. ¥ Radar chart

4. % Area chart

Question Number : 40 Question Id : 2549898042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Qeh T3 I1E T JUTNT SRR FHY YRAelT ST H Teh Ught &l chet=T st & folg foham SIrem 81 9 UehR a1 <t
SRR hIcATIshiHeh TU & Wi STdr g1 Ot ffa  amga aré & &Y H ST ST 8

Options :
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Which of the following is the correct sequence of actions in MS Excel to 'change the location of the
legend"?

Options:

1. # Click Font > Right click legend

2. ¢ Click the chart > Click the Chart Element > Click Legend

3. ¥ Left click legend > Click Font

4. # Click Font > Left click legend
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Options :

1. ¥ thie R fRie R > s R IRT foeTep e

2. ¥ T1E R foReTeh hd> ATE TleTHe UR faeTah & > dioie UR faeTdh dhe
3. ¥ dSie IR Il-foeTen e > Thive UR foetdh e

4, % Hhic IR fFereh e > Aoie WR IrT-foeren e
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A computer can perform millions of tasks or calculations with the same consistency and accuracy.
It doesn't feel any fatigue or lack of concentration. Its memory also makes it superior to that of

human beings.

Which of the following characteristics of a computer is described in above statement?
Options:

1. # Speed

2. % Accuracy

3. * Reliability

4. +# Diligence
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Options:
1. % 99 (Tre)

2. % gerdqr (TegRet)
3. # fayg-tgar (Reamafaferd)
4. ¥ s (fefasia)
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Ina topology, each terminal is connected to exactly two other nodes, giving the network a

circular shape.
Options :

1. % star

2. * mesh

3. ¥ bus

4. ¥ ring
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Options :
1. ¥ &R

2. % g



3. % 99

4.+ &
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If you want to format paragraph spacing in MS Word 2016, which of the following way is to

perform it?

Options :

1. # Go to format group and select add / remove space
2. # Go to styles group

3. #* Click on to font group

4.+ Click on Line and Paragraph Spacing command from Paragraph group and select appropriate

option
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Correct Marks : 1 Wrong Marks : 0

What options are present in replace tab, when dialog box appears in MS Word?
Options:

1. # Find what and Replace with only

2. ¥ Find what, Replace with, along with advance options like format, special options
3. #* Find with only

4. # Replace with only
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Options :

1. ¥ hgd Find what 3R Replace with

2. ¥ Find what, Replace with, & 911 T&ai¥ e w9 format, special options
3. % ohad Find with

4. % had Replace with
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In a computer system, mouse is also known as:
Options :

1. * jerking device

2. ¥ storage device

3. ¢ pointing device

4. # output device
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Options :

1. ® Sifch feargd

2. ¥ @RS fearsy

3. ¢ digfdn feargy
4. % 33y fearsy
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A PivotTable is a powerful tool to calculate, , and analyze data that lets you see comparisons,

patterns, and trends in your data.
Options :

1. # simple

2. % mark

3. % summarize

4., # assess
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Options :



1. % I3
2. ¥ Ok
3.+ &y

4, % 3Mcheld
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When one has to switch between his/her pages (open application windows) in MS Windows, then

which key combination should be used?
Options :

1. * Tab+Del

2. ¥ Alt+Tab

3. * You cannot switch from programs

4. % Tab+Shift
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Options:

1. % Tab+Del

2. ¥ Alt+Tab

3. % 3 Ui § {9 78 o gond €

4. % Tab+Shift
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Which of the following is NOT a financial category function in MS Excel?
Options :

1. % NOW()

2. % RATE()

3. % NPV()

4, % PMT()
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Options:

1. % NOW()

2. ® RATE()

3. % NPV()

4. % PMT()
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______isessentially a live, interactive audio or audio-visual meeting between two or more users.
Options :

1. # Chat

2. % System

3. # Email



4, ¥ Teleconferencing
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1. ¥ 9

2. %

3. % A

4, & EAIRIThET
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Which of the following natural element is the primary element in computer chips also called as
microchips?

Options :

1. % Oxygen

2. # Hydrogen

3. ¥ Silicon

4. % Calcium
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Options :
1. ® Siferite
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In which of the following scheduling algorithms, the jobs are executed on First Come First Serve
(FCFS) basis?

Options :

1. # Shortest Job First

2. ¥ First Come First Serve Scheduling

3. * Round Robin

4. # Priority Scheduling
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Options:

1. % SleT srd 999 Uge! (Shortest Job First)

2. ¢ Ugdl 313l uget @t i Afei T (First Come First Serve Scheduling)
3. # 33 AfaT (Round Robin)

4. % grufiierdar Srsyfei (Priority Scheduling)
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Read the given passage and answer the questions that follow.

Panda

The pictures of a giant panda appear quite frequently on leaflets and posters. This cuddly-looking,
black and white animal is the official symbol of the World Wide Fund for Nature (WWF). The
minimum estimated population of the giant panda is about 1,864. For many people, the giant

panda has become a symbol of everything that is worth conserving in nature.

The giant panda closely resembles a bear probably because millions of years ago, the two shared

a common ancestor. Today, giant pandas are found only in the bamboo forests of Central China



and in small numbers in Tibet. Bamboo forests provide them food, shelter as well as safety.

Giant pandas spend most of their time wandering in the bamboo forests, chewing bamboo
shoots. As they feed only on bamboo shoots and that too in huge quantities, there isn't always
enough food for them. Though they can survive for long periods without their staple food, many

are known to have died of starvation.

Giant pandas are playful animals and can make a variety of sounds like chirping, huffing, snorting,
bleating and even barking. Due to excessive hunting and destruction of their natural habitat,
these exotic animals are nearing extinction. They can be seen only in zoos where we hope they can
breed more of their kind. It is not an easy thing to take care of giant pandas in a zoo, for it would

be difficult to find food to feed them. Besides, they don't breed easily in a zoo.

When a baby panda is born, it is very tiny and weighs only 140 grams. The giant panda is a good
mother. She feeds and nurses the baby lovingly. She is often found to cradle, stroke and play with
her little cub. She also guards the infant closely carrying it carefully in her teeth or paw, if
necessary. When the cub is about 18 months old and weighs about 45 kilograms, it is ready to live

on its own.

Sub questions
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___isoneof the reasons why giant pandas are nearing extinction.
Options :

1. ®# Sharing a common ancestor with the bear

2. ¥ Excessive hunting

3. ¥ Shortage of zoos in cities

4. #® Low weight at birth
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The giant panda CANNOT makea_____ sound.
Options :

1. * bleating

2. * chirping

3. ¥ whistling

4. * barking
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The giant panda is a symbol of all that is well worth conserving in nature becauseitis ______
Options:

1. # a cuddly, black and white animal

2. * the only animal that eats bamboo shoots

3. ¥ one of the endangered animals in the world

4. % |ives in the forests of Central China and Tibet
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It is difficult to take care of giant pandas in a zoo because ______
Options:

1. * there is not enough space for them to move around

2. ¥ itis difficult to find the right food for them

3. * baby pandas need their mothers to nurse them

4, # itis very big in size
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Which of the following statements about giant pandas is NOT true?

Options :

1. #* Itis the official symbol of the World Wide Fund for Nature (WWF).

2. ¥ Bamboo forests provide them with food, shelter as well as safety.

3. ¥ The young one of a panda is able to live independently when it is around 45 months old.

4. # They can survive for long without their staple food.
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Options :

2. ¥ JgagH



3. ¢ d@& s
4. % offee
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What is the approximate value of the given expression?

(Note: you are not expected to calculate the exact value)

V2498 x V626 ~ /99



Options :
1. % 110
2. % 90

3. # 200

4.4 125
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e v =ists @1 sgFfaa A= T e
(3TT=T HESF R HT 0TAT AGT F0 g1)
V2498 x V626 + /99

Options :
1 % 110

5 % 90

3 % 200

4 v 125
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Seema, Meena and Reema begin to jog around a circular stadium in the same direction and they
complete their revolutions in 54 seconds, 42 seconds and 63 seconds, respectively. They start from
the same point. After approximately how many minutes will they come together at the starting

point?



Options :
1.%8
2. %10
3.%3

4. 6
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Options :

1. % 8
2. %10
3.% 3

4.4 6
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What is the value of the given expression?

(4444 + 40) + (645 + 25) + (3991 + 26)
Options :
1. % 280.4
2.¥ 2904
3. #2954

4. % 285.4
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(4444 + 40) + (645 + 25) + (3991 + 26)

Options :
1 % 280.4

5 v 290.4

3 % 295.4

4 % 285.4

Question Number : 61 Question Id : 25498928958 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Three men A, B and C start a business together. They invest ¥30,000, ¥24,000 and 42,000,
respectively, in the beginning. After 4 months, B took out ¥6,000 and C took out ¥10,000. They get

a profit of ¥11,960 at the end of the year. B's share in the profit to a nearest rupee is:
Options :

1. % ¥2,700

2.¥%2,803

3. ¥ 32,900

4. % 2,785
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Options :

1. % 32,700

2. % 32,803

3. % 32,900

4. % 2,785
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In an examination, 30% of the total students failed in Hindi, 45% failed in English and 20% failed in

both the subjects. Find the percentage of those who passed in both the subjects.
Options :

1. % 35.7%

2. # 35%

3. ¥ 40%

4. % 45%

Question Number : 62 Question Id : 25498928961 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 35.7%

5> % 35%

3 % 40%

4 v 45%
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At the marked price of 72 pens, a retailer buys 80 pens. If he gives 2% discount on the marked
price, his profit percentage is:

Options :

65
1.« 8

Question Number : 63 Question Id : 25498929449 Question Type : MCQ Option Shuffling : Yes
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2 % 8
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3. 9
4 % 10
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Options :

1. % QK5

2.¥%$6D

3.#¥PBS

4.%1G0O
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Study the given symbol-letter-number sequence and answer the question that follows.

2PJ@8%$LB1V#Q68GWIOKCDO*£5FR7AY4

Three of the following four options are similar in relation to their positions in the above sequence

and hence form a group. Which one does NOT belong to that group?
Options :
1. % QK5
2.%$6D
3.¥PBS

4. % 1G0O
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ORIENTAL
Options :
1. % =
2. % U
3.¥/a

4. % d
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Find out how many such pairs of letters are there in the given word each of which has as many

letters between them in the word as in the English alphabet.

ORIENTAL
Options:
1. # Nil

2. % One
3. ¥ Two

4. % Three
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Options :

1.¥ 1A

2. % 2B

3. % 4A

4. % 4D
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In the following pair, find two words related to the words already given - one word for each of the

two related pairs.

I: Never: All: II

L. (1) Always (2) Usually (3) Seldom (4) Often
I1. (A) None (B) Whole (C) Every (D) Total

Options :
1.4 1A
2. # 2B
3. ®¥ 4A

4. % 4D
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Options :

1. # H$D@F#R

2. ¥ R%BD@F$H

3. * R$D@F#H

4. ¥ H%D@F$R
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In a certain code language, if

‘A$B’ means ‘A is the mother of B;
‘A#B' means ‘A is the father of B’;
‘A@B’ means ‘A is the husband of B’;
‘A%B’ means ‘A is the daughter of B',

then which of the following expressions indicates ‘R is the sister of H?
Options :

1. * H$D@F#R



2. ¥ R%D@F$H
3. ¥ R$D@F#H

4. ¥ H%D@F$R
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Options :

1. ¥ 3fThYh
2. % gElgeh
3. ¥ hEDRR%

4, ® Higeh
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Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.
Options :

1. # Captivate

2. % Charm

3. ¢+ Offend

4. % Fascinate

Question Number : 69 Question Id : 25498927874 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Select the option that is related to the third word in the same way as the second word is related to

the first word.

Racing : Fatigue :: Fasting : ?
Options :

1. ®* Food

2. * Appetite

3. % Hunger

4. % Cramps

Question Number : 69 Question Id : 25498927874 Question Type : MCQ Option Shuffling : Yes
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Options :

1. ® e

2. % wfy
3. ¥ 5@

4, ¥ HHSRY
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Match the following and select the correct option by using the given codes.

Event Person
A. Doctrine of Lapse 1. Curzon
B. Partition of Bengal 2. Clive

C. Dual Government in Bengal||3. Dalhousie

D. Social Reforms 4. Bentinck

Options :

1. % A-2,B-3,C-1,D-4
2. % A-3,B-1,C-4, D-2
3. ¥ A-3,B-1,C-2,D-4

4. % A-2, B-3, C-4, D-1
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A. T T fgI (Doctrine of Lapse)|1. dheie

B. ST ohT faHTeT 2. FATZd
C. sTTel & ey a1 3. Sgtell
D. 9HIfSIeh guR 4, §feh
Options :

1. % A-2,B-3,C-1,D-4
2. % A-3,B-1,C-4,D-2
3.¥ A-3,B-1,C-2,D-4

4. % A-2, B-3, C-4, D-1
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Who among the following is the author of a collection of poems called ‘The Golden Threshold?
Options :

1. * Aruna Asaf Ali

2. % Annie Besant

3. ¥ Sarojini Naidu

4. # Vijayalaxmi Pandit
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Options :

1. % 3N STEH et
2. ® gt e

3. ¢ WS g
4. % fasmeiedt dfed
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The Ozone layer above the surface of the earth provides a shield against:
Options :

1. # X-rays

2. ¥ ultra-violet rays

3. % gamma rays

4. % infrared rays
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The XXVII (1996) Summer Olympic Games were held in:
Options :

1. # Los Angeles

2. % Moscow

3. ¥ Atlanta

4. * Tokyo
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Options:

1. ® Afg geiferd

2. % HTER

3. ¢ 3rier

4. % oy
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The National Agricultural Insurance Scheme that replaced the Comprehensive Crop Insurance

Scheme was introduced in the year:
Options :

1. % 1997-1998



2. * 1993-1994
3. % 1999-2000

4. = 2001-2002
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Options :

1. # 1997-1998

2. % 1993-1994

3. % 1999-2000

4. % 2001-2002
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Which of the following is empowered to implement fundamental rights by the Constitution?
Options :

1. ®* All courts in India

2. * Parliament

3. ¥ President

4. + Supreme Court and High Courts
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Learning new skills at any age reaps a huge amount of benefits, such as increasing our
sense of accomplishment and personal growth. But, the most important thing to remember
is that we all are different when it comes to learning new information and skills. This means
that people have the potential to excel with different cognitive abilities and therefore, learn
effectively in completely different ways. Understanding your learning technique and
utilizing it will allow you to become more knowledgeable on the subject you are learning.
Once discovered, make this your main source of learning, making sure you throw in some
alternative ways for optimal results. With this in mind, here are some of the most effective
ways for retaining information and gaining the skills that you have learned. Memory tactics.
Memorizing information can come more easily to some than others. If you struggle with
retaining key points, then improving your focus is one way of dealing with this. Many
studies have shown that listening to certain type of music not only increases productivity
but also helps to focus the mind and retain information. You must also pay attention to how
you structure your time. Structured study sessions over a period of time allows you to
process the information more adequately. Our brain grasps more information through small
regular sessions than one long marathon. Relatable learning. Relating and applying what
you have learned is an effective way to understand new information. By doing this, you
allow your brain to see connections through experience and previous knowledge, thereby
allowing the new information to stick in your mind. Explain what you have learned to
someone else. Another great method is to explain the new information to someone else.
Doing this, reinforces what you have learned in your mind, allows you to pinpoint any gaps
in information that you may not have understood, and helps you translate the information
into your own words and in a way that others can understand. This is an effective way to
test whether or not your techniques are working for you. Start a blog, create a presentation
or participate in discussions on the subject to solidify your knowledge. Try different
methods of learning. Do not limit yourself to just one method of learning. The brain needs
stimulation and even if one method is very effective, you can run the risk of getting bored.
This is the point where your motivation level can drop down. Therefore, it is advised to
practice your leaning method while mixing it up with reading, watching related video clips,
practical sessions, and explaining it to others. To become more knowledgeable in your
chosen subject and learn effectively, your leaning method must include a variety of verbal
and visual parameters. Always remember that becoming an efficient learner takes time. So,
be patient with yourself and focus on one method at a time to allow yourself to find out

what suits you. Motivation is key. Do whatever you can to keep your motivation level high.



Lastly, focus on the small, steady and effective steps to get you to the next level.
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